
Notice  –  it is the 

number that when added 
to itself is equal to –5 
and when multiplied by 

itself is equal to  . 

 Unit 3 – 3         

BASIC 
06102  xx          06102  xx   Move constant to the other side 

 

           6102  xx       25625102  xx  

 

 

 

           3125102  xx  Easily Factors 

              3155  xx  Can be re-written 

            315 2 x  Take the square root of both sides 

            315 2 x  Don’t forget    . 

            315 x  Isolate  x 

  

                  315x  OR    5678.105678.0  orx  
INTERMEDIATE 

012153 2  xx          09153 2  xx   Move constant to the other side 

 

                   9153 2  xx  Divide both sides by the leading coefficients 
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          3028.46972.0  orx  

+6        +6 

5 
½  of 

10 25 
Square 

5 

  –5      –5 

–9 –9 

2
5

  ½  of 
5 

Square 
5/2 

Add 25 to 
both sides 
Add 25 to 
both sides 

4
25

M. Winking      Unit 3-3   page 81 
 



Solve the following by completing the square. 

1. 019102  xx     2. 02122  xx  

 

 

 

 

 

 

 

 

 

 

 

3. 
2 12 8 0x x       4. 

2 5 4 0x x    

 

 

 

 

 

 

 

 

 

 

 

 

5. 01482 2  xx     6. 05183 2  xx  
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Solve the following by completing the square. 

7. 
22 16 3 0x x       8. 

22 10 6 0x x    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

9. 
22 5 12 0x x       10. 

24 10 8 0x x    
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